spc counts

spc counts

21jun12 a2030 tp vs time. Beam2A

I
/\K \ 1]
media“ﬁ filter to"1

0 100 200 300
time [min]

4

9.0x10

4

8.5x10

4

8.0x10

4

7.5%x10

4

7.0x10

H\\‘H\\‘Fﬁ7+3ﬁ*4#u“;

4

6.5x10

tp vs time. Beam2B

LA

0 100 200 300
time [min]

4

7.5x10

4

7.0x10

4

6.5x10

4

6.0x10

T ‘
_
= =

calOn - calOff Beam2A

5000

4800

=

4600

4400

spc counts

4200

4000

3800

0 100 200 300
time [min]

calOn - calOff Beam2B
4400 T T T T T

4200

4000 ]

3800 iy

spc counts

3600 i

3400 [

3200 -

0 100 200 300
time [min]



Tcal

1.05

0.95

0.90

21jun12 calOn - calOff Beam2A SigA: 0.032

100 200 300

Smooth to 1.0 secs time [min]
Smooth to 12.2 secs

TCal

1.10

1.05 [~

0.95 —

0.90

calOn - calOff Beam2B SigB: 0.018

100 200 300
time [min]



